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=FH KRFHE 504 606 621 1227 508 608 623 1231
REFFI/MR 976/ 1208 1219 2427 995 1219 1227 2446
KFHE:8 349 438 421 859 351 441 423 864
RKFINB 301 345 388 733 302 345 389 734
KFEKR 288 424 393 817 294 431 399 830
HiRF—TH 429 351 313 664 477 399 337 736
RHIRFZ=TH 796 679 711 1390 869 738 744 1482
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X¥EH 207 234 245 479 209 236 247 483
RFEFRE 241 285 267 552 247 287 271 558
KEIFHE 1020, 1353| 1384 2737 1042| 1369/ 1398 2767
KFFE 179 225 235 460 187 226 244 470
KFFK 51 57 53 110 52 58 53 111
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{ehET 876 889 912| 1801 955 929 957 1886
JoHT 974| 1029/ 1058/ 2087 1045/ 1070/ 1100 2170
(32 824 904 917 1821 843 918 926 1844
=JtHT 1042 975 904| 1879| 1152| 1042 961 2003
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RET—TH 555 607 570 1177 589 638 594 1232
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& LUET 994 888 802| 1690 1243 1048 941 1989
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T 1293 976/ 1029| 2005 1408| 1045 1104 2149
KRILHET 1400| 1212| 1235| 2447 1482 1258 1290 2548
RE 0 ILET 2151 1921 1960/ 3881 2340| 2043| 2084 4127
HRaHET 293 329 332 661 311 343 340 683
JAKHET 853 882 923/ 1805 919 924 961 1885
HET 716 829 880/ 1709 724 834 889 1723
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J\t&F—TH 334 330 322 652 361 351 338 689
J\WE_—TH 317 357 304 661 324 362 308 670
AR —T B 467 439 410 849 505 459 436 895
BE=—THE 235 244 233 477 248 252 240 492
BER=TH 792 869 883| 1752 816 887 903 1790
BRI TE 1135 1205 1335 2540/ 1219 1245 1390 2635
FHRA—TH 566 560 566/ 1126 602 586 590 1176
FHRA=-TH 856 907 935/ 1842 869 919 948 1867
FRA=TH 670 654 699| 1353 698 666 721 1387
FREmTAH Xi* 1174|1091 1175 2266, 1211 1111 1207 2318
KFRF 157 148 116 264 169 156 120 276
KFEH 361 406 432 838 364 407 434 841
EZPH—TH 283 304 304 608 300 314 314 628
EPH_TH 212 252 245 497 226 261 255 516
EPH=TH 268 287 272 559 280 295 277 572
RKFELEH 12 15 23 38 12 15 23 38
KFELEHE 222 283 291 574 228 285 296 581
KFHH 1156 1291 1256| 2547 1185 1308 1276 2584
RFFAHIFTE 5 5 7 12 5 5 7 12
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KFHEA 284 367 426 793 291 371 431 802
KF/h L 177 196 192 388 177 196 192 388
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RFEMZA 45 60 51 111 46 61 51 112
XKFRR 71 105 100 205 72 105 101 206
RFALET 84 90 102 192 85 90 103 193
XFS 30 31 39 70 30 31 39 70
KF£H 25 27 26 53 25 27 26 53
KFIRK 63 67 67 134 63 67 67 134
RFHEFE 57 72 59 131 57 72 59 131
RKFEFHTE 22 28 26 54 22 28 26 54
XKFFO 110 146 131 277 112 146 133 279
RFHE 146 176 174 350 148 177 175 352
KFIFIE 80 109 110 219 80 109 110 219
KFJiug 241 337 343 680 257 349 352 701
RKFIKIEZF 292 403 381 784 296 406 386 792
[Zo&WEHTR—TH 0 0 0 0 0 0 0 0
[Z2&WEHTAZTH 341 489 473 962 350 497 483 980
[Zo&WEHTREZTH 465 647 628 1275 47 649 633 1282
[Zo&WEH AT H 287 408 388 796 295 415 397 812
[Zo&WEHSTRKETH 542 675 694 1369 555 684 701 1385
[Zo&WEHTRATH 284 368 347 715 296 378 351 729
[Zo&WEHTRETH 102 167 185 352 106 170 188 358
[Z2&WEHTARNTH 0 0 0 0 0 0 0 0
A 2——TH 0 0 0 0 0 0 0 0
mAVA—_TH 0 0 0 0 0 0 0 0
KX R XKFHF 536 585 670/ 1255 555 596 683 1279
KF LB 224 251 258 509 225 251 259 510
KFMATS 166 188 202 390 169 190 203 393
XFEN 262 310 296 606 274 318 300 618
KFEAH 121 157 152 309 123 160 153 313
XFR/E 90 110 125 235 90 110 125 235
RAFRFEF 147 194 189 383 149 195 190 385
mRF—TH X 433 423 448 871 441 428 459 887
miRE_TH 326 342 317 659 332 342 323 665
mRF=TH 337 359 327 686 339 360 328 688
mRFMTH 402 413 437 850 415 425 440 865
mRFATH 423 426 456 882 429 427 463 890
#E—-TH 165 165 184 349 166 165 185 350
BE_"TH 396 431 466 897 398 433 466 899
BE=TH 177 187 191 378 179 187 193 380
BEENTHE 444 471 468 939 448 472 471 943
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